),

Ceramix  A6548. \deal Standard

Produced from: Nov. 2021

2163 38 - 57

Single lever shower mixer built-in cpl.
chrome A6548AA

g1 (7" | ) 1
- <«

Part- Part-
Pos.  Description Number Qty. Pos.  Description Number Qty.

1 Cartridge @ 47 A 960 500 NU* 1 pcs *Universal set (not all parts needed)

2 Cylindrical screw A 963 176 NU 3 pcs

3 Cap + Fixation ring A 961 760 NU 1 pcs

4 Escut. holder cpl. A 860 899 NU* 1 Set X
5 Cylindrical screw M4x30 A 960 559 NU 1 pcs E
6 Escutcheon @ 163 Shower A 860 946 AA 1 pcs g
7 Lever cpl. with Logo A 861 020 AA 1 Set W)
8 Extension kit 20mm A 961 168 AA 1 Set

9 Extension kit 40mm A 961 462 AA 1 Set

10 Distanceframe 20mm A 6677 AA 1 Set




: “ Ideal
Ceramlx A6548.. STANDARD
Produced from: Sept. 2015 - Oct. 2021
2163 38-57

Single lever shower mixer built-in cpl.
chrome A6548AA

g1 (7" | ) 1
- <«

Part- Part-
Pos.  Description Number Qty. Pos.  Description Number Qty.
1 Body ( shower only) 1 O -ring set A 961 649 NU* 1 Set
2 Cartridge @ 47 A 960 500 NU 1 pcs 12 Cylindrical screw M4x30 A 960 559 NU 1 pcs
3 ECO-Kit A 860 700 NU 1Set 13 Escutcheon @ 163 Shower A 860 946 AA 1 pcs
4 Cylindrical screw A 963 176 NU 3 pcs 14 Lever cpl. with Logo ISI A 861 020 AA 1 Set X
5 Fixation ring A 963 298 NU 1 pcs 15 Thread pin M5x10 DIN915 A 963 309 NU 1 pcs e
©
6 Plaster guard 16 Cap for handle B 960 473 AA 1 pcs E
7 Cylindrical screw M4x10 17 Extension kit 20mm A 961 168 AA 1 Set (W)
8 Cap + pos. 5 A 961760 AA 1 Set 18  Extension kit 40mm A 961 462 AA 1 Set
9 Sealring )
10 Escut. holder cpl. A 860899 NU*  1Set Universal set (not all parts needed)




